

## On Hopfian and Co-Hopfian Modules\*

Yang Gang<sup>1</sup> and Liu Zhong-kui<sup>2</sup>

<sup>1</sup>*School of Mathematics, Physics and Software Engineering,  
Lanzhou Jiaotong University, Lanzhou, 730070, China*

<sup>2</sup>*Department of Mathematics,  
Northwest Normal University, Lanzhou, 730070, China*

Received March 15, 2006

Revised May 15, 2006

**Abstract.** A  $R$ -module  $M$  is said to be Hopfian (respectively Co-Hopfian) in case any surjective (respectively injective)  $R$ -homomorphism is automatically an isomorphism. In this paper we study sufficient and necessary conditions of Hopfian and Co-Hopfian modules. In particular, we show that the weakly Co-Hopfian regular module  ${}_R R$  is Hopfian, and the left  $R$ -module  $M$  is Co-Hopfian if and only if the left  $R[x]/(x^{n+1})$ -module  $M[x]/(x^{n+1})$  is Co-Hopfian, where  $n$  is a positive integer.

2000 Mathematics Subject Classification:

*Keywords:* Hopfian modules, Co-Hopfian modules, weakly Co-Hopfian modules, generalized Hopfian modules.

### 1. Introduction

Throughout this paper, unless stated otherwise, ring  $R$  is associative and has an identity,  $M$  is a left  $R$ -module. An essential submodule  $K$  of  $M$  is denoted by  $K \leq_e M$ , and a superfluous submodule  $L$  of  $M$  is denoted by  $L \ll M$ .

In 1986, Hiremath introduced the concept of the Hopfian module [1]. Lately, the dual of Hopfian, i.e., the concept of Co-Hopfian was given, and such modules

---

\*This work was supported by National Natural Science Foundation of China (10171082), TRAPOYT and NWNNU-KJCXGC212.

have been investigated by many authors, e.g. [1-8]. In [9], it is proved that if  ${}_R R$  is Artinian then  ${}_R R$  is Noetherian. In the second section, we introduce the concept of generalized Artinian and generalized Noetherian, which are Co-Hopfian and Hopfian, respectively, and prove that if  ${}_R R$  is generalized Artinian then  ${}_R R$  is generalized Noetherian. Varadarajan [2] showed that if  ${}_R R$  is Co-Hopfian then  ${}_R R$  is Hopfian, and we considerably strengthen this result by proving that  ${}_R R$  is Hopfian under the condition of weak Co-Hopficity. So we get the following relationships for the regular module  ${}_R R$ :

$$\begin{array}{ccccccc}
 \text{Artinian} & \Rightarrow & \text{generalized Artinian} & \Rightarrow & \text{Co-Hopfian} & \Rightarrow & \text{weakly Co-Hopfian} \\
 \downarrow & & \downarrow & & \downarrow & \swarrow & \downarrow \\
 \text{Noetherian} & \Rightarrow & \text{generalized Noetherian} & \Rightarrow & \text{Hopfian} & \Rightarrow & \text{generalized Hopfian}
 \end{array}$$

Varadarajan [2, 3] showed that the left  $R$ -module  $M$  is Hopfian if and only if the left  $R[x]$ -module  $M[x]$  is Hopfian if and only if the left  $R[x]/(x^{n+1})$ -module  $M[x]/(x^{n+1})$  is Hopfian, lately, Liu extended the result to the module of generalized inverse polynomials [8]. But for any  $0 \neq M$ , the  $R[x]$ -module  $M[x]$  is never Co-Hopfian. In fact, the map "multiplication by  $x$ " is an injective non-surjective map, where  $x$  is a commuting indeterminate over  $R$ . In the third part of the paper, the Co-Hopficity of the polynomial module  $M[x]/(x^{n+1})$  is considered. We showed that the  $R$ -module  $M$  is Co-Hopfian if and only if the  $R[x]/(x^{n+1})$ -module  $M[x]/(x^{n+1})$  is Co-Hopfian, where  $n$  is any positive integer. The following are several conceptions we will use in this paper.

**Definition 1.1.** [2] Let  $M$  be a left  $R$ -module,

- (1)  $M$  is called Hopfian, if any surjective  $R$ -homomorphism  $f : M \rightarrow M$  is an isomorphism.
- (2)  $M$  is called Co-Hopfian, if any injective  $R$ -homomorphism  $f : M \rightarrow M$  is an isomorphism.

**Definition 1.2.** [12] A left  $R$ -module  $M$  is said to be weakly Co-Hopfian if every injective  $R$ -endomorphism  $f : M \rightarrow M$  is essential, i.e.,  $f(M) \leq_e M$ .

**Definition 1.3.** ([13]) A left  $R$ -module  $M$  is said to be generalized Hopfian if every surjective  $R$ -endomorphism  $f$  of  $M$  is superfluous, i.e.,  $\text{Ker}(f) \ll M$ .

## 2. Hopfian and Co-Hopfian Modules

**Definition 2.1.** Let  $M$  be a left  $R$ -module,

- (1)  $M$  is called generalized Noetherian, if for any  $R$ -homomorphism  $f : M \rightarrow M$ , there exists  $n \geq 1$  such that  $\text{Ker}(f^n) = \text{Ker}(f^{n+i})$  for  $i = 1, 2, \dots$ .
- (2)  $M$  is called generalized Artinian, if for any  $R$ -homomorphism  $f : M \rightarrow M$ , there exists  $n \geq 1$  such that  $\text{Im}(f^n) = \text{Im}(f^{n+i})$  for  $i = 1, 2, \dots$ .

Obviously, any Noetherian (resp. Artinian) module is generalized Noetherian (resp. Artinian), but the converses are not true.

*Example 2.1.* The  $Z$ -module  $M = \bigoplus_{p \in \mathcal{P}} Z_p$  is both generalized Noetherian and generalized Artinian, but it is neither Noetherian nor Artinian, where  $\mathcal{P}$  is the set of all primes.

*Proof.* Using the fact that  $\text{Hom}_Z(Z_p, Z_q) = 0$  if  $p$  and  $q$  are distinct primes we see that any  $Z$ -endomorphism of  $M$  has the form of  $f = \bigoplus_{p \in \mathcal{P}} f_p$ , where every  $f_p : Z_p \rightarrow Z_p$  ( $p \in \mathcal{P}$  is prime) is a  $Z$ -endomorphism, therefore, there are  $\text{Im}(f^n) = \text{Im}(f^{n+i})$  and  $\text{Ker}(f^n) = \text{Ker}(f^{n+i})$  for any positive integer  $n$  and  $i$ . It is easy to prove that  $M$  is neither Noetherian nor Artinian. ■

Thus Noetherian and Artinian modules are properly contained in generalized Noetherian and generalized modules respectively. It is also obvious that  ${}_R R$  is generalized Artinian if and only if there exists  $n \geq 1$  such that  $Rr^n = Rr^{n+1}$  for any  $r \in R$  and  ${}_R R$  is generalized Noetherian if and only if there exists  $n \geq 1$  such that  $\ell_R(r^n) = \{x \in R \mid xr^n = 0\} = \{x \in R \mid xr^{n+1} = 0\} = \ell_R(r^{n+1})$  for any  $r \in R$ . A ring  $R$  is called left  $\pi$ -regular if there are  $n \geq 1$  and  $s \in R$  such that  $r^n = sr^{n+1}$  for any  $r \in R$ . By [10],  $R$  is left  $\pi$ -regular if and only if  $R$  is right  $\pi$ -regular. It is well known that if  ${}_R R$  is Artinian then it is Noetherian, the following extends this result to generalized Artinian and generalized Noetherian.

**Theorem 2.1.** *Let  $R$  be a ring, if  ${}_R R$  is generalized Artinian then  ${}_R R$  is generalized Noetherian.*

*Proof.* Let  $f : R \rightarrow R$  be any  $R$ -endomorphism and  $r \in R$  satisfy  $r = f(1)$ , then there exists a positive integer  $n$  such that  $Rr^n = \mathfrak{S}(f^n) = \text{Im}(f^{n+i}) = Rr^{n+i}$  for  $i = 1, 2, \dots$ . It is clear that  $R$  is left  $\pi$ -regular, so  $R$  is right  $\pi$ -regular by [10], which means that there are  $m \geq 1$  and  $s \in R$  such that  $r^m = r^{m+1}s$ . Let  $k = \max\{n, m\}$ , then we have that  $Rr^k = Rr^{k+1}$  and  $r^k = r^{k+1}t$ , where  $t = r^{k-m}s$ . Since  $\text{Ker}(f^k) = \{x \in R \mid xr^k = 0\} = \ell_R(r^k)$ , we only have to show  $\ell_R(r^k) = \ell_R(r^{k+1})$ . It is obvious that  $\ell_R(r^k) \subseteq \ell_R(r^{k+1})$ . Let  $x \in \ell_R(r^{k+1})$ , then  $xr^k = x(r^{k+1}t) = (xr^{k+1})t = 0$ , so  $x \in \ell_R(r^k)$ , thus we get  $\ell_R(r^{k+1}) \subseteq \ell_R(r^k)$ . ■

It is proved in [11, Prop.1.14] that Noetherian (resp. Artinian) modules are Hopfian (resp. Co-Hopfian). In fact, the results can be extended to the following, and the proof is the same, so we omit it.

**Theorem 2.2.** *Let  $M$  be a left  $R$ -module.*

- (1) *If  $M$  is generalized Noetherian then  $M$  is Hopfian,*
- (2) *If  $M$  is generalized Artinian then  $M$  is Co-Hopfian.*

**Question 2.1** Is any Hopfian module  $M$  generalized Noetherian?

**Question 2.2.** Is any Co-Hopfian module  $M$  generalized Artinian?

We have not an answer to Question 2.1, but we have a negative answer to 2.2 by the following example.

*Example 2.2.* Let the ring

$$R = \begin{pmatrix} Z/2Z & Z/2Z \\ 0 & Z_{(2)} \end{pmatrix},$$

where  $Z_{(2)}$  is 2-localization of  $Z$ , namely  $Z_{(2)} = \{\frac{m}{n} | (n, 2) = 1\}$ . Then  $R$  is Co-Hopfian as  $R$ -module and not generalized Artinian.

*Proof.* From [2, Ex.1.5],  ${}_R R$  is Co-Hopfian. It is easy to check that

$$R \begin{pmatrix} \alpha & \beta \\ 0 & 2b \end{pmatrix}^n \supset R \begin{pmatrix} \alpha & \beta \\ 0 & 2b \end{pmatrix}^{n+1}$$

for any positive integer  $n$ . ■

Recall that an element  $a$  of a ring  $R$  is called a left (resp. right) unit if there exists  $b \in R$  such that  $ba = 1$  ( $ab = 1$ ). We call  $c \in R$  left (resp. right) regular if  $\ell_R(c) = \{r \in R | rc = 0\} = 0$  (resp.  $\gamma_R(c) = \{r \in R | cr = 0\} = 0$ ). It is clear that  ${}_R R$  is Co-Hopfian if and only if there exists  $a \in R$  such that  $ac = 1$  for any left regular element  $c$  of  $R$ ,  ${}_R R$  is weakly Co-Hopfian if and only if there is  $Rc \leq_e {}_R R$  for any left regular element  $c \in R$ ,  ${}_R R$  is Hopfian if and only if  $\ell_R(a) = 0$  for any left unit  $a \in R$ . Varadarajan [2] proved that if  ${}_R R$  is Co-Hopfian then  ${}_R R$  is Hopfian. We weaken the condition of this result as follow.

**Theorem 2.3.** *Let  $R$  be a ring, if  ${}_R R$  is weakly Co-Hopfian then  ${}_R R$  is Hopfian.*

*Proof.* Suppose that  ${}_R R$  is not Hopfian, then there is a left unit  $a \in R$  such that  $0 \neq \ell_R(a) \leq {}_R R$ . By the condition of the weak Co-Hopfity of  ${}_R R$ , we have  $Rc \leq_e {}_R R$ , where  $c \in R$  satisfies  $ca = 1$ , so  $Rc \cap \ell_R(a) \neq 0$ . For any  $x \in Rc \cap \ell_R(a)$ , we have that  $x = rc$  for some element  $r \in R$ , therefore  $r = r(ca) = (rc)a = xa = 0$  and  $x = 0$ , this contradicts  $Rc \cap \ell_R(a) \neq 0$ . Thus the result is proved. ■

It is well known that Hopfian modules are generalized Hopfian, but the converse is not true. So we easily get the following result.

**Corollary 2.1.** *If  ${}_R R$  is weakly Co-Hopfian then  ${}_R R$  is generalized Hopfian.*

Let  $\{S_\lambda\}_{\lambda \in \Lambda}$  be a family of rings indexed by a set  $\Lambda$ ,  $\prod_\Lambda S_\lambda = S$  be the Cartesian product of  $\{S_\lambda\}_{\lambda \in \Lambda}$ . A ring  $R$  is called the subdirect product of the rings  $\{S_\lambda\}_{\lambda \in \Lambda}$ , if there exists an injective ring homomorphism  $\phi : R \rightarrow S = \prod_\Lambda S_\lambda$  such that  $\pi_\lambda \phi$  is a surjective ring homomorphism for any  $\lambda \in \Lambda$ , where each  $\pi_\lambda : S = \prod_\Lambda S_\lambda \rightarrow S_\lambda$  is the projection onto the  $\lambda$ th components[14]. It is easy to show that  $R$  is the subdirect product of a family rings if and only if there exists a family of ideals of  $\{I_\lambda\}_{\lambda \in \Lambda}$  of  $R$  such that  $R$  is the subdirect product of  $\{R/I_\lambda\}_{\lambda \in \Lambda}$ , where  $\{I_\lambda\}_{\lambda \in \Lambda}$  satisfy  $\bigcap_\Lambda I_\lambda = 0$ .

**Proposition 2.1.** *Let a ring  $R$  be the subdirect product of a family of rings  $\{S_\lambda\}_{\lambda \in \Lambda}$ , if each  $S_\lambda$  is Hopfian as an  $S_\lambda$ -module then  ${}_R R$  is Hopfian.*

*Proof.* Let  $\{I_\lambda\}_{\lambda \in \Lambda}$  be a family of ideals of  $R$  such that  $R$  is the subdirect product of  $\{R/I_\lambda\}_{\lambda \in \Lambda}$ , where  $\{I_\lambda\}_{\lambda \in \Lambda}$  satisfy  $\bigcap_{\lambda \in \Lambda} I_\lambda = 0$ . For any surjective  $R$ -homomorphism  $f : R \rightarrow R$ , define  $f_i : R/I_i \rightarrow R/I_i, r + I_i \mapsto rf(1) + I_i$ . If  $r_1 - r_2 \in I_i$ , then  $f_i(r_1 + I_i) - f_i(r_2 + I_i) = r_1f(1) - r_2f(1) + I_i = (r_1 - r_2)f(1) + I_i = \bar{0}$ , thus each  $f_i$  is well defined. Clearly, each  $f_i$  is a surjective  $R/I_i$ -homomorphism, also each  $f_i$  is a surjective  $R$ -homomorphism, therefore  $\text{Ker}(f_i) = \bar{0}$  since  $R/I_i, i \in \Lambda$  are Hopfian, we get that  $\{r \in R | f(r) \in I_i\} = I_i$ , thus  $\text{Ker}(f) \subseteq I_i, i \in \Lambda$ . So  $\text{Ker}(f) \subseteq \bigcap_{i \in \Lambda} I_i = 0$ . It follows that  $f$  is an injective  $R$ -homomorphism. ■

Recall that  $M^* = \text{Hom}_R(M, R)$  is said to be the  $R$ -dual of  ${}_R M$ , also  $M^{**}$  is called the double dual of  ${}_R M$ . If the evaluation map  $\sigma : M \rightarrow M^{**}$  defined by  $[\sigma_M(m)](\alpha) = \alpha(m)$  is injective, where  $m \in M$  and  $\alpha \in M^*$ , then  $M$  is called torsionless.  $M$  is torsionless if and only if  $\text{Rej}(M, R) = \bigcap_{f \in \text{Hom}_R(M, R)} \text{Ker}(f) =$

0. It is shown in [15, Prop.3.1] that if the  $R$ -dual  $M^*$  is weakly Co-Hopfian and  $M$  is torsionless, then  $M$  is generalized Hopfian. Similarly, we have the following.

**Proposition 2.2.** *Let the  $R$ -dual  $M^*$  of  ${}_R M$  be Co-Hopfian, if  $M$  is torsionless, then  $M$  is Hopfian.*

*Proof.* Let  $\phi : M \rightarrow M$  be any surjective  $R$ -homomorphism, then  $\bar{\phi} : M^* \rightarrow M^*$  defined by  $\bar{\phi}(f) = f\phi$  for any  $f \in M^*$  is an injective  $R$ -homomorphism. Since  $M^*$  is Co-Hopfian, we get that  $\mathfrak{S}(\bar{\phi}) = M^*$ , which means that there exists  $f \in M^*$  such that  $g = f\phi$  for every  $g \in M^*$ , by  $g(\text{Ker}(\phi)) = f\phi(\text{Ker}(\phi)) = 0$  and  $\mathfrak{Rj}(M, R) = 0$ , we have that  $\text{Ker}(\phi) = 0$ . ■

**Corollary 2.2.** *Let  ${}_R M_S$  be a bimodule,  $E = \text{Hom}_R(M, M)$ , if the right  $S$ -module  $E$  is Co-Hopfian, then the left  $R$ -module  $M$  is Hopfian.*

*Proof.* By Proposition 2.2, it is clear since  $\text{Rej}(M, M) = 0$ . ■

**Corollary 2.3.** *Let  ${}_R M_S$  be a bimodule,  $S = \text{End}_R(M)$ ,  ${}_R M$  is quasi-injective. If  ${}_S S$  is Hopfian, then the left  $R$ -module  $M$  is Co-Hopfian.*

*Proof.* Let  $\phi : M \rightarrow M$  be an injective  $R$ -homomorphism, then we have that  $\bar{\phi} : S \rightarrow S$  defined by  $\bar{\phi}(f) = f\phi$  for any  $f \in S$  is a surjective  $S$ -homomorphism. Since  ${}_R M$  is quasi-injective, there is  $f : M \rightarrow M$  such that  $f\phi = 1_M$ , so  $\phi f\phi = \phi$ , i.e.,  $\bar{\phi}(\phi f - 1_M) = 0$ , by the Hopficity of  ${}_S S$ , we get that  $\bar{\phi}$  is an injective  $S$ -homomorphism, so  $\phi f = 1_M$ , which implies that  $\phi$  is a surjective  $R$ -homomorphism. ■

### 3. The Co-Hopficity of $M[x]/(x^{n+1})$

Let  $x$  be a commuting indeterminate over  $R$ ,  $M$  be a left  $R$ -module. Set

$M[x]/(x^{n+1}) = \{\sum_{i=0}^n m_i x^i + (x^{n+1}) | m_i \in M, i = 0, 1, \dots, n.\}$ ,  $R[x]/(x^{n+1}) = \{\sum_{i=0}^n r_i x^i + (x^{n+1}) | r_i \in R, i = 0, 1, \dots, n.\}$ . The addition in  $R[x]/(x^{n+1})$  and  $M[x]/(x^{n+1})$  are given componently, and the  $R[x]/(x^{n+1})$ -module structure is defined by

$$\left(\sum_{i=0}^n r_i x^i + (x^{n+1})\right)\left(\sum_{j=0}^n m_j x^j + (x^{n+1})\right) = \sum_{t=0}^n m'_t x^t + (x^{n+1}),$$

where each  $m'_t = \sum_{i+j=t} r_i m_j$  for any  $r_i \in R$  and  $m_j \in M$ .

The left  $R[x_1, x_2, \dots, x_k]/(x_1^{n_1+1}, x_2^{n_2+1}, \dots, x_k^{n_k+1})$ -module  $M[x_1, x_2, \dots, x_k]/(x_1^{n_1+1}, x_2^{n_2+1}, \dots, x_k^{n_k+1})$  is defined similarly.

**Lemma 3.1.** *Let  $x$  be a commuting indeterminate over  $R$ ,  $\alpha \in \text{End}_{R[x]/(x^{n+1})}(M[x]/(x^{n+1}))$ , where  $n$  is a positive integer. If  $\alpha(f(x)) \neq 0$  for some element  $f(x) = \sum_{j=0}^n m_j x^j + (x^{n+1}) \in M[x]/(x^{n+1})$ , then  $\partial(f(x)) \leq \partial(\alpha(f(x)))$ , where  $\partial(f(x))$  denotes the smallest index number of  $x$  of the polynomial  $f(x)$ . In particular, we have that  $\partial(f(x)) = \partial(\alpha(f(x)))$  when  $\alpha$  is injective.*

*Proof.* We denote  $x + (x^{n+1})$  by  $u$ . So  $M[x]/(x^{n+1}) = M + Mu + \dots + Mu^n$ , where  $u$  is a commuting indeterminate over  $R$  and  $u^{n+1} = 0$  (the following is the same). We have that  $\alpha(m) = \sum_{j=0}^n m_j u^j$  for any element  $m \in M$ , therefore  $\alpha(mu^k) = u^k(\sum_{j=0}^n m_j u^j) = \sum_{j=0}^{n-k} m_j u^{j+k}$  since  $\alpha$  is injective, where  $0 \leq k \leq n$ . Obviously,  $\partial(\sum_{j=0}^n m_j u^j) \leq \partial(\alpha(\sum_{j=0}^n m_j u^j))$ , that is  $\partial(f(x)) \leq \partial(\alpha(f(x)))$ . When  $\alpha$  is injective, suppose  $\alpha(mu^k) = \sum_{j=k+1}^n m_j u^j$ , then we get that  $\alpha(mu^n) = \alpha(u^{n-k}(mu^k)) = u^{n-k} \sum_{j=k+1}^n m_j u^j = 0$ , thus  $m = 0$ . So  $\partial(f(x)) = \partial(\alpha(f(x)))$ . ■

**Theorem 3.1.** *Let  $x$  be a commuting indeterminate over  $R$ ,  $M$  a left  $R$ -module and  $n$  a positive integer. Then the left  $R$ -module  $M$  is Co-Hopfian if and only if the left  $R[x]/(x^{n+1})$ -module  $M[x]/(x^{n+1})$  is Co-Hopfian.*

*Proof.* ( $\Rightarrow$ ) Let  $\alpha : M[u] \rightarrow M[u]$  be any injective  $R[u]$ -module homomorphism. Define the  $R$ -module homomorphisms  $\tau : M \rightarrow M[u]$  via  $\tau(m) = m$  for any  $m \in M$  and  $p_i : M[u] \rightarrow M$  via  $p_i(\sum_{j=0}^n m_j u^j) = m_i, i = 0, 1, \dots, n$  for any  $\sum_{j=0}^n m_j u^j \in M[u]$ , then  $\tau$  is injective and each  $p_i$  is surjective. Since for some element  $m \in M$  satisfying  $p_0 \alpha \tau(m) = 0$ , we obtain that  $p_0 \alpha(m) = p_0(\sum_{j=0}^n m_j u^j) = m_0 = 0$ , by Lemma 3.1,  $m = 0$ . Hence,  $p_0 \alpha \tau : M \rightarrow M$  is an injective  $R$ -homomorphism, so  $p_0 \alpha \tau$  is an isomorphism by the Co-Hopficity of  $M$ .

For any  $\sum_{j=0}^n m_j u^j \in M[u]$ , there is  $m'_0 \in M$  such that  $p_0 \alpha \tau(m'_0) = m_0$ . Assume  $\alpha(m'_0) = m_0 + a_1^{(0)} u + \dots + a_n^{(0)} u^n \in M[u]$ , if  $m_1 \neq a_1^{(0)}$ , then there is  $m'_1 \in M$  such that  $p_0 \alpha \tau(m'_1) = m_1 - a_1^{(0)}$ , where  $\alpha(m'_1) = (m_1 - a_1^{(0)}) + a_1 u + \dots + a_n u^n \in M[u]$ . Thus we have that  $\alpha(m'_0 + m'_1 u) = \alpha(m'_0) + u \alpha(m'_1) = m_0 + m_1 u + a_2^{(1)} u^2 + \dots + a_n^{(1)} u^n$ . If  $m_2 \neq a_2^{(1)}$ , continue the above process at most  $n + 1$  times, we will obtain that  $f(u) = \sum_{j=0}^n m'_j u^j \in M[u]$  satisfies

$\alpha(f(u)) = \sum_{j=0}^n m_j u^j$ . So  $\alpha$  is surjective and the left  $R[u]$ -module  $M[u]$  is Co-Hopfian.

( $\Leftarrow$ ) Let  $g : M \rightarrow M$  be any injective  $R$ -homomorphism. Define  $\alpha : M[u] \rightarrow M[u]$ ,  $\sum_{j=0}^n m_j u^j \mapsto \sum_{j=0}^n g(m_j) u^j$ , it is easy to prove that  $\alpha$  is an injective  $R[u]$ -homomorphism. Therefore  $\alpha$  is an isomorphism by the Co-Hopfianity of the left  $R[u]$ -module  $M[u]$ . So there exists  $\sum_{j=0}^n m_j u^j \in M[u]$  such that  $\alpha(\sum_{j=0}^n m_j u^j) = m$  for any  $m \in M$ , i.e.,  $g(m_0) = m$ , now we obtain that  $g$  is surjective. ■

**Theorem 3.2.** *Let  $M$  be a left  $R$ -module,  $x_1, x_2, \dots, x_k$   $k$  commuting indeterminates over  $R$ , then the left  $R$ -module  $M$  is Co-Hopfian if and only if the left  $R[x_1, x_2, \dots, x_k]/(x_1^{n_1+1}, x_2^{n_2+1}, \dots, x_k^{n_k+1})$ -module  $M[x_1, x_2, \dots, x_k]/(x_1^{n_1+1}, x_2^{n_2+1}, \dots, x_k^{n_k+1})$  is Co-Hopfian for any positive integers  $n_1, n_2, \dots, n_k$ .*

*Proof.* Notice that the left  $(R[x_1, \dots, x_{k-1}]/(x_1^{n_1+1}, \dots, x_{k-1}^{n_{k-1}+1}))[x_k]/(x_k^{n_k+1})$ -module isomorphism  $(M[x_1, \dots, x_{k-1}]/(x_1^{n_1+1}, \dots, x_{k-1}^{n_{k-1}+1}))[x_k]/(x_k^{n_k+1}) \simeq M[x_1, \dots, x_k]/(x_1^{n_1+1}, \dots, x_k^{n_k+1})$  and ring isomorphism  $(R[x_1, \dots, x_{k-1}]/(x_1^{n_1+1}, \dots, x_{k-1}^{n_{k-1}+1}))[x_k]/(x_k^{n_k+1}) \simeq R[x_1, \dots, x_k]/(x_1^{n_1+1}, \dots, x_k^{n_k+1})$ . By induction, it is easy to prove. ■

## References

1. V. A. Hiremath, Hopfian rings and Hopfian modules, *Indian J. Pure Appl. Math.* **17** (1986) 895–900.
2. K. Varadarajan, Hopfian and Co-Hopfian objects, *Publicacions Matemàtiques* **36** (1992) 293–317.
3. K. Varadarajan, A note on the Hopfianity of  $M[x]$  or  $M[[x]][J]$ , *Nat. Acad. Sci. Letters* **15** (1992) 53–56.
4. K. Varadarajan, Hopfianity of cyclic modules, *Nat. Acad. Sci. Letters* **15** (1992) 217–221.
5. W. M. Xue, Hopfian modules and Co-Hopfian modules, *Comm. Algebra* **23** (1995) 1219–1229.
6. A. Haghany, Hopfianity and Co-Hopfianity for Morita contexts, *Comm. Algebra* **27** (1999) 477–492.
7. Z. K. Liu, Co-Hopfian modules of generalized inverse polynomials, *Acta Math. Sinica* **17** (2001) 431–436.
8. Z. K. Liu, A note on Hopfian module, *Comm. Algebra* **28** (2000) 3031–3040.
9. F. W. Anderson and K. R. Fuller, *Rings and Categories of Modules*, Springer-Verlag, New York, Heidelberg–Berlin, 1973.
10. F. Dischinger, Sur les anneaux foretement  $\pi$ -réguliers, *C. R. Acad. Sci. Paris, Ser.* **A283** (1976) 571–573.
11. T. Y. Lam, *Lectures on Modules and Rings*, Springer-Verlag, New York–Berlin–Heidelberg, 1998.
12. A. Haghany and M. R. Vedadi, Modules whose injective endomorphisms are essential, *J. Algebra* **243** (2001) 765–779.

13. A. Ghorbani and A. Haghany, Generalized Hopfian modules, *J. Algebra* **255** (2002) 324–341.
14. Robert Wisbauer, *Foundations of Module and Ring theory*, Gordon and Breach Science Publishers, 1991.
15. A. Ghorbani and A. Haghany, Duality for weakly Co-Hopfian and generalized Hopfian modules, *Comm. Algebra* **31** (2003) 2811–2817.